THE CORPORATION OF THE TOWN OF MIDLAND

BY-LAW 2023-8

A By-law to Establish and Approve the Fees and Charges of the Town of Midland and to repeal By-law 2022-15, as amended.

WHEREAS Section 391 (1) of the *Municipal Act* S.O. 2001, c. 25, as amended authorizes a municipality to impose fees or charges on persons for services or activities, for costs payable for services or activities and for the use of property including property under its control; and

WHEREAS Section 398 (2) of the *Municipal Act* 2001, S.O. 2001 provides that the treasurer of a municipality may add fees or charges imposed by a municipality to the tax roll and collect them in the same manner as municipal taxes; and,

WHEREAS all fees or charges imposed pursuant to the By-law are due and payable at the time the services are provided; and,

WHEREAS Section 69 of the *Planning Act* R.S.O. 1990 provides that a municipality may prescribe a tariff of fees for the processing of applications made in respect of planning matters; and,

WHEREAS Council passed By-law 2022-15 on the second day of March, 2022, and amended by By-law 2022-30 on fourth day of May, 2022, to establish a Composite Fee Schedule for the Town of Midland for services and activities provided or done by the municipality within the By-law, Clerks, Community Services, Engineering, Finance, Fire, Operations and Planning Divisions;

AND WHEREAS Council has reviewed the schedule of fees and charges and now deems it expedient to repeal By-law 2022-15, as amended and provide the Composite Fees and Charges for 2023;

NOW THEREFORE THE COUNCIL OF THE CORPORATION OF THE TOWN OF MIDLAND HEREBY ENACTS AS FOLLOWS:

1. That the fees and charges established for municipal services, activities and for the use of municipal property set out in the following Schedule of this By-law are hereby approved and deemed to form part of this by-law:

Clerks and By-law
Finance
Fire and Emergency Services
Planning Services
Building Services

By-law 2023-8 Page 2

Infrastructure and Engineering Services
Public Works
Parks
North Simcoe Sports and Recreation Centre
Tourism and Culture
Transit
Transit Advertising

- 2. That By-law 2022-15, as amended is hereby repealed.
- 3. That this By-law comes into force and effect March 15, 2023.

BY-LAW PASSED AND ENACTED THIS 1ST DAY OF MARCH, 2023.

THE CORPORATION OF THE TOWN OF MIDLAND

BILL GORDON - MAYOR	
SHERRI EDGAR – CLERK	

Service/Activity	2023
Photocopy (each) (all fees subject to HST)	
Letter (8½ x 11) Black and White	\$0.75
Letter (8½ x 11) Colour	\$1.25
Legal (8½ x 14) Black and White	\$1.25
Legal (8½ x 14) Colour	\$2.50
Tabloid (11 x 17) Black and White	\$2.50
Tabloid (11 x 17) Colour	\$4.00
Arch C (18 x 24) Black and White	\$5.50
Arch C (18 x 24) Colour	\$10
Arch D (24 x 36) Black and White	\$12
Arch D (24 x 36) Colour	\$14
Arch E (36 x 48) Black and White	\$17
Arch E (36 x 48) Colour	\$22
Lapel Pins	\$2.00 each + HST
(At the discretion of the Clerk's Department, groups, teams or individuals, representing the Town may be permitted 100 pins on a one-time basis per year.)	
Town of Midland Flags	\$75
Municipal Information Form (LCBO)	\$40
Commission of Oath/Certification of Document	\$40+ HST
(non-municipal related/non-resident)	\$60 + HST
Burial Permit – Out-of-Town	\$35
Marriage Licence	\$160
Civil Ceremony	Service Discontinued
	Service Discontinued
Hourly Charge out Rate - Town Clerk	\$125
Hourly Charge out Rate - Law Clerk	\$125

Service/Activity	2023
Insurance and Claims Administrative Service Charge for claims recovery from 3rd parties above the actual cost of damage	10% of Town paid invoices

Service/Activity		2023	
Lottery Licensing			
Break Open Tickets	3% of total prize(s) value		
Bazaar	39	% of prize payo	out per box
	\$10	/wheel of fortu	ne per day
Raffle/Bingo		3% of total prize	ze(s) value
Animal Control Dogs Kennel License		\$135 (Jan. 1 t	o Feb. 28)
		\$170 (Mar. 1 t	o Dec. 31)
Dog License (each dog)	1 year	2 year	<u>3 year</u>
(Jan. 1 to Feb. 28)	\$20	\$40	\$60
(Mar. 1 to Dec.)	<u>1 year</u>	2 year	3 year
	\$35	\$50	\$70
		\$10 (replace	ement tag)
Pound and Seizure Fee			\$40
Daily Maintenance Fee			\$5
Business Licensing			
Auctioneer, Hawker and Peddler, Refreshment Vehicle, Farmers Market			
Application Fee			\$26
Replacement Business License			\$21
a) Auctioneer			\$0
Annual License			\$84
Event License			\$11
b) Hawker and Peddler			\$0
Annual License			\$263
Event License			\$11

_	Service/Act	ivity	2023
	c)	Joint Hawker and Peddler Event license	\$7.35 per vendor/day

Service/Activity	2023
d) Refreshment Vehicle	\$0
Annual License	\$263
Event Licence	\$11
Event License (non-profit charitable organization/non-profit non-charitable organization	No Charge
e) Farmers' Market - Annual License	\$683
Municipal Freedom of Information Request	
Application Fee	\$5
Photocopies and computer printouts	\$.20 per page + HST
CD-ROMs	\$10 each +HST
Manual Search	\$7.50 for each 15 minutes
Preparation of a record for disclosure, including severing a part of the record	\$7.50 for each 15 minutes
Developing a computer program or other method of producing a record from machine readable record	\$15 for each 15 minutes
Taxi Cab Stands – Maximum 3 spaces	\$450 annually
Meter Bag Rate (\$50 deposit)	Service Discontinued
	Service Discontinued
Encroachment Agreement (standard)	1300 + HST
For Patio downtown core as defined with the Zoning Bylaw	325.00 + HST
Agreement amendment for patio in downtown core	\$175 + HST
Permit Parking (All fees include HST)	
Lot 1 – Behind Gianetto's (29 spaces)	
Lot 3 – Beside Post Office (5 spaces)	Free
Lot 4 – Beside the Mirror Paper (5 spaces)	
Lot 5 – Behind Bourgeois Motors (33 spaces)	

Service/Activity	2023
Lot 6 – Behind TD Bank (27 spaces)	
Lot 7 – Behind Subway Restaurant (10 spaces)	
Lot 8 – Beside Total Sports (6 spaces)	
Lot 9 – Behind Bayshore Dental (17 spaces)	
Lot 10 – Beside One Stop Beauty Shop (19 spaces)	
On Street Permit Parking	
First Street between Hugel & Yonge (33 spaces)	Free
Midland Avenue between Hugel & Yonge (37 spaces)	
Monthly Permit Parking (All fees include HST)	
Lot 1 – Behind Gianetto's	
Lot 5 – Behind Bourgeois Motors	
Lot 6 – Behind TD Bank	
Lot 7 – Behind Subway Restaurant	
Lot 9 – Behind Bayshore Dental	
Lot 10 – Beside One Stop Beauty Shop	
Annual Fire Permit Fee	\$40
Administration Fee for first time By-law Offence	30%
Administration Fee for subsequent offence related to same by- law during a 12 month period	60%
Police Records	
Motor Vehicle Accident Report	\$65
Motor Vehicle Accident Report including officer's notes, witness statements, general report	\$130.00 + Time related to preparation of record for disclosure, including severing a part of the record
Occurrence Confirmation Reports/Incident Reports	\$130 + HST

Service/Activity	2023
Outdoor Patio Program *	
Outdoor Patio - Town Property	\$500.00
Outdoor Patio - Private Property	\$200.00
*Fees in effect from 2022 to October 15/2023	

Finance

Service/Activity Fee	2023
Returned Cheque	\$45
Tax Certificate	\$60
Tax Certificate (if req within 48 hrs)	\$80
Duplicate Tax Receipt / Tax Statement	\$15
Budget document (printed)	\$150 + HST
Printed labels	\$0.25/label+HST (Minimum \$25)
Tax Sale Documents	Actual cost + HST, plus 25% administration
Interest on outstanding accounts receivables	1.25%
Duplicate Utility Receipt	\$15
Letter of confirmation that taxes were paid by previous owner	\$50
Development Charge Interest Plan Admin Fee	\$1,000
Interest on outstanding Development Charges	5.00%
New Tax Roll (New Account)	-
Tax Roll Ownership Change	\$40
Development Charge Agreement Fee (e.g. Deferral Agreement)	Minimum \$500 + Additional costs (not to exceed full cost recovery)
Mortgage Company Listing Admin Fee	\$20 fee per client per billing

Fire and Emergency Services

Service/Activity	2023
Request for Fire Reports	\$100.00
Request for Inspection Requests	\$100.00
Request for Written Information (Mortgage Clearance Letters, Change of Ownership, etc.)	\$100.00
Inspection Requests (excluding "Inspections required under a Building Permit")	\$75.00
No Show for Inspection	\$55.00
Single Occupancy Building (under 20,000 sq. ft.)	\$75.00
Single Occupancy Building (over 20,000 sq. ft.)	\$100.00
Multiple Tenant Building (under 20,000 sq. ft.)	\$100.00
Multiple Tenant Building (over 20,000 sq. ft.)	\$110.00
Each Unit – Occupancy	\$30.00 per unit
L.C.B.O. Approvals (Occupant Load Calculations)	No Charge
Fire Apparatus Stand-by (shows, exhibitions, demonstrations, etc.) Stand-by	No Charge
Not for Profit	No Charge
Security Stand-by for Incendiary Fires	No Charge
	No Charge
False Alarms – Police Services	
First Alarm	No Charge
Second Alarm	No Charge
Third Alarm	\$200
All subsequent False Alarms within the calendar year	\$200

Fire and Emergency Services

Service/Activity	2023
False Alarms – Fire Services	
False Alarms (more than two (2) false alarms in twelve (12) months – Same Building – due to faulty or improperly installed or maintained equipment or in the opinion of the Fire Chief or Designate the alarm could have been prevented by alternate measures.	
First Alarm	No Charge
Second Alarm	No Charge
Third Alarm	\$1,000
All Subsequent Alarms within the Calendar Year	\$1,500
Elevator Rescue (Nuisance or Malicious) Note: One alarm per twelve-months exempt. Nuisance alarm = non-notification of work/testing to system, poor maintenance, non-action to remedy cause/repair system	\$1,000.00
Fire Training and Demonstrations (Municipal Departments Exempt)	\$100.00 per hour + Costs
Technical Response	Full Cost Recovery
Retain Private Contractor Provide Rescue and Environmental Cleanup	Full Cost Recovery
(If it is necessary to retain private contractor, rent equipment not normally carried on a fire apparatus in order to determine origin and cause, suppress or extinguish a fire, preserve property, prevent fire spread, make safe or otherwise eliminate a hazard)	
Fire Works (Request for inspection and approval of site for sale and storage)	\$75.00
Fire Suppression Foam and Dry Chemical Foam	Actual Cost
Photo Opportunity with Apparatus (wedding, birthday parties)	
Use of Truck, Firehall	\$50.00 per hour
Use of Truck on Location	\$100.00 per hour
PFD – only within the boundary of Penetanguishene MFD – only within the boundary of Midland	

Fire and Emergency Services

Service/Activity	2023
Emergency Response	
Automobile Incident (Fire or Collision) Invoice parties involved in Midland	Ministry of Transportation (MTO) Current Rates
Midland residents exempt in Midland	
Penetanguishene residents exempt in Penetanguishene	
Automobile Incident located on the King's Highways	Ministry of Transportation (MTO) Current Rates
Other Services	
Air Cylinder Recharge	
SCBA	\$10.00
CASCADE	\$50.00
Training Courses	\$100 per hour + Costs
Securing of Property	\$175.00 per hour + Costs
Incident Clean-up	
Note: Where costs for additional specialized resources are required, all costs shall be the responsibility of the property owner.	Actual Costs
Fire Marquee Indemnification Technology	\$500.00/vehicle for first hour
Note: Extra- ordinary costs will be billed in addition to the above	\$250.00/vehicle for each additional ½ hour, inclusive of personnel costs.

Service/Activity	2023
Text - Official Plan +HST	\$62.67
Text - Zoning By-law +HST	\$62.67
Text - Sign By-law +HST	\$62.67
Application for Official Plan Amendment	\$12,540.00
Application for Zoning By-law Amendment	\$9,350.00
Application for Zoning By-law Amendment (Minor)	\$3,850.00
Application for Revision to a Zoning By-law Amendment (base) applies to revisions to an application in process	\$5,500.00
Application for Revision to a Zoning By-law Amendment (minor) applies to revisions to an application in process	\$1,650.00
Application for Temporary Use By-law	\$5,500.00
Application for Removal of H Symbol	\$2,750.00
Each subsequent review after 3 reviews - Zoning By-law Amendments	\$1,500.00
Application for Site Plan Control Approval - Base	\$9,350.00
Application for Site Plan Control Approval - Minor	\$4,950.00
Minor/administrative amendment to a site plan approval and/or agreement	\$1,100.00
Application for Site Plan Control Approval - Agreement Preparation* * denotes - legal costs of preparation and registration are additional and to be carried	
by the applicant	\$1,980.00
Each subsequent review (after 3 reviews) of Site Plan Submission	\$1,650.00
Application for Minor Variance/Permission to Expand	\$1,452.73
Refundable Sign Deposit	\$198.10
Application for Provisional Consent – New Lot - each lot created resulting from a consent application	\$3,850.00
Application for Change of Provisional Consent Conditions	\$660.33
Application for Lot Addition/Adjustment	\$2,750.00

Service/Activity	2023
Application for Easement	\$2,750.00
Application for Validation	\$2,750.00
Minor Variance or Consent - to amend and recirculate application (minor)	\$1,650.00
Minor Variance or Consent - to defer an application and recirculate after notice has been provided	\$137.50
Issuance of Certificate of Official (Per Lot)	\$110.00
Refundable Sign Deposit	\$198.10
Application for Plan of Subdivision	\$13,750.00
Each subsequent review (after 3 reviews) of Subdivision materials	\$1,650.00
Application for Plan of Subdivision - Deposit	\$6,603.30
Application for Plan of Subdivision – Agreement Preparation*	•
*denotes legal costs are additional and to be carried by the applicant.	\$6,603.30
Application for Extension to Draft Approval/Change of Conditions	\$4,950.00
Application for Revision to a Draft Plan	\$6,600.00
Application for Red Line Revision (Minor/technical)	\$1,474.00
Model Home Agreement	\$3,300.00
Model Home Agreement Deposit outside services	\$2,200.00
Issuance of Final Subdivision Approval	\$11,000.00
Application for Plan of Condominium	\$9,900.00
Application for Exemption from Plan of Condominium	\$5,500.00
Application for Plan of Condominium - Deposit	\$3,795.00
Application for Plan of Condominium – Agreement Preparation* *denotes legal costs of preparation and registration are to be carried by the applicant.	\$6,600.00

Service/Activity	2023
Application for Plan of Condominium Red Line Revision	
Application for Flatt of Condominatin Ned Line Nevision	\$1,474.00
Application for Extension to Draft Approval/Change of Conditions	\$4,950.00
Application for Deeming	\$1,320.66
Application for Conversion to Condominium	\$6,603.30
Private Road Agreement	\$660.33
Application for Part Lot Control	\$3,300.00
Application for Part Lot Control Extension	\$1,650.00
Application for Variance to Sign By-law	\$880.00
Application for Variance to Sign By-law – Non-Profit Organization	\$132.07
Application for Amendment to Sign By-law	\$1,584.79
Application for Amendment to Sign By-law – Non-Profit Organization	\$132.07
Subdivision Compliance Letter/ Site Plan Control Compliance Letter if required within	
48 hours of receipt	\$66.03
	\$132.07
Zoning Compliance Letter	\$132.07
Septic Systems Search	\$33.02
Duties of the Risk Management Official regarding a residential use or home	¥*****
occupation/home industry as defined by the Zoning By-law	\$138.00
	\$302.50
Duties of the Risk Management Official regarding a use other than a residential use or	*
home occupation/home industry	\$138.00
Municipal Search	ФОС О О
If required within 48 hours of receipt	\$66.03 \$132.07
Preliminary Review Meeting	\$500.00
Pre-consultation fees	\$1,500.00
General Development Agreement	\$3,300.00
Pre-Servicing Agreement	\$3,300.00
Deposit for outside services	\$2,200.00

Service/Activity	2023
Zoning Certificate Review	\$100.00
Zoning Certificate Revision Fee	\$50.00
Research per hour administrative staff	\$93.50
Planner miscellaneous duties per hour	\$192.50
Planner appearance before appeal tribunal per hour	\$192.50
Planner appearance before appeal tribunal per day	\$1,650.00
All peer review costs that may be required for the review of any application shall be borne by the applicant. Payment shall be required in advance of service delivery. Contingency fees/deposits may be collected in addition to any specific fee at point of application. Deposit and/or contingency fees referenced in this schedule are minimums only and subject to further top up increases depending on costs.	

2023	2023

^{* 2023} Proposed Fees under review. Rates frozen until Service Delivery and related fee structure review is complete.

1A – New Structures	Fee per m ² unless otherwise noted	Fee per ft2 unless otherwise noted
Designated Structures – free standing (not listed elsewhere)	\$520	each
Docks	\$115.00	Flat Fee
Farm Buildings – of low human occupancy (Architect or Engineer)	\$3.21 m2	(\$0.30 ft2)
Farm Buildings- (No Architect or Engineer)	0	(\$0.24 ft2)
Public Pools, or Outdoor Pools (greater than 3.5m deep)	\$520	Per Pool
Minimum fee	\$115.00	Min Fee
Minimum Fee New Residence	\$1,810.00	Min Fee
1B – New Buildings by Occupancies	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Group A – Assembly Uses		
Gaming Premises - finished	\$20.43 m2	(\$1.86 ft 2)
- shell only	\$15.32 m2	(\$1.42 ft2)
Portable classrooms - per unit	\$470.00	Flat Fee
All other buildings - finished	\$14.60 m2	(\$1.35 ft2)
- shell only	\$11.17 m2	(\$1.04 ft2)
Group B – Institutional Uses		
All buildings - finished	\$14.56 m2	(\$1.35 ft2)
- shell only	\$10.27 m2	(\$0.95 ft2)
Group C - High Density Residential (Apts, Hotels, etc)		
All buildings - finished	\$15.45 m2	(\$1.43 ft2)
- shell only	\$11.94 m2	(\$1.11 ft2)
Group C – Low Density Residential (Singles, Semis, Towns, etc)		

	2023	2023
Individual dwelling - Floor area not listed below	\$13.02 m2	(\$1.21 ft2)
- Finished basement-w/house construction	\$115.00	Per Project
- Attached garage	\$7.78 m2	(\$0.72 ft2)
- Attached carport bay	\$115.00	Flat Fee
- Covered Deck / Porch	\$7.85 m2	(\$0.73 ft2)
- Deck /Porch without roof	\$5.98 m2	(\$0.55 ft2)
- Acc Building/Boathouse (over 200 sf)	\$7.78 m2	(\$0.72 ft2)
- Acc Building/Boathouse (under 200 sf)	\$115.00	Flat Fee
Group D, & E – Business Services and Mercantile Uses		
Restaurants - finished	\$14.56 m2	(\$1.35 ft2)
- shell only	\$4.81 m2	(\$0.45 ft2)
All other Buildings - finished	\$11.32 m2	(\$1.05 ft2)
- shell only	\$8.66 m2	(\$0.81 ft2)
Group F – Industrial Uses		
Gas Bar Canopy/ Car Washes		
- finished	\$6.29 m2	(\$0.58 ft2)
- shell only	\$4.81 m2	(\$0.45 ft2)
Parking Garages / Warehouse Storage		
- finished	\$4.76 m2	(\$0.44 ft2)
- shell only	\$3.65 m2	(\$0.34 ft2)
All other buildings - finished	\$7.23 m2	(\$0.68 ft2)
- shell only	\$5.53 m2	(\$0.52 ft2)
1C – Temporary Structures	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Bleachers	\$5.60 m2	(\$0.54 ft2)
Protective Hoarding (partially enclosed)	\$135.00	Flat Fee
Protective Tunnels/Walkways (fully enclosed)	\$17.18 m2	(\$1.60 ft2)
Sales office / Trailers	\$270.00	Flat Fee
Temporary tent up to 225m ²	\$135.00	Flat Fee
Temporary tent greater than 225m ²	\$180.00	Flat Fee
Permanent tent / air supported structure	4.86 m2	(\$0.45 ft2)

	2023	2023
1D – Demolitions	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Whole Structure		
- 1 storey, no basement/crawlspace, 60m ² or less	\$115.00	Flat Fee
- any other structure not exceeding 60 m ²	\$315.00	Flat Fee
- any structure over 60 m ²	\$1,050.00	Flat Fee
Partial (where remaining structure will remain occupied)		
- To all uses other than an Individual Residential unit	\$6.77 m2	(\$0.62 ft2)
1E – Structure Remediation & Additions	Fee per m2 unless otherwise noted	Fee per m ² unless otherwise noted
Designated Structures attached to structure (not listed elsewhere)	\$520.00	Per unit
Farm Buildings of low human occupancy – additions	\$3.21 m2	(\$0.30 ft2)
Clandestine Labs remediation	\$10,000	Per Unit
- plus, Third Party Review	Out of pocket cost recovery + 10%	
Marijuana Grow-op minor remediation	\$520.00	Per Unit
- plus, Third Party Review	Out of pocket cost recovery + 10%	
Marijuana Grow-op major remediation	\$8,000.00	Per Unit
- plus, Third Party Review	Out of pocket cost recovery + 10%	
Public Pools	\$520.00	Per Pool
1F – Additions & Renovations to Buildings	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Group A – Assembly Uses		
Gaming Premises - Additions	\$23.50 m2	(\$2.18 ft2)
- Interior alterations / repairs	\$17.68 m2	(\$1.64 ft2)
- Interior finishing of a new shell	\$10.61 m2	(\$0.99 ft2)

	2023	2023
All other uses - Additions	\$17.13 m2	(\$1.60 ft2)
- Interior alterations / repairs	\$12.84 m2	(\$1.19 ft2)
- Interior finishing of a new shell	\$7.72 m2	(\$0.72 ft2)
Group B – Institutional Uses		
All uses - Additions	\$22.27 m2	(\$2.08 ft2)
- Interior alterations / repairs	\$16.71 m2	(\$1.56 ft2)
- Interior finishing of a new shell	\$10.02 m2	(\$0.94 ft2)
Group C - High Density Residential (Apts, Hotels, etc)		
All uses - Additions	\$18.24 m2	(\$1.70 ft2)
- Interior alterations / repairs	\$13.63 m2	(\$1.56 ft2)
- Interior finishing of a new shell		

	2023	2023
Group C - Low Density Residential (Singles, Semis, Towns,		
etc)		
All uses - Accessory building additions	\$7.77 m2	(\$0.72 ft2)
- Boathouse additions	\$7.77 m2	(\$0.72 ft2)
- Dock additions	\$115.00	Flat Fee
Individual dwelling - Additions not listed below	\$15.32 m2	(\$1.42 ft2)
- Attached garage	\$7.77 m2	(\$0.72 ft2)
- Carport	\$115.00	Flat Fee
- Covered Deck / Porch additions	\$7.77 m2	(\$0.72 ft2)
- Deck/porch (no roof) additions	\$5.98 m2	(\$0.55 ft2
- Interior alterations /repairs	\$11.49 m2	(\$1.07 ft2)
- Interior finishing	\$6.89 m2	(\$0.64 ft2)
- Finish of basement	\$3.73 m2	(\$0.34 ft2)
Group D, & E – Business Services and Mercantile Uses		
Restaurants - Additions	\$17.18 m2	(\$1.60 ft2)
- Interior alterations / repairs	\$12.88 m2	(\$1.19 ft2)
- Interior finishing of a new shell	\$7.74 m2	(\$0.72 ft2)
All other uses - Additions	\$13.36 m2	(\$1.24 ft2)
- Interior alterations / repairs	\$10.02 m2	(\$0.92 ft2)
- Interior finishing of a new shell	\$6.02 m2	(\$0.56 ft2)
Group F – Industrial Uses		
Gas Bar Canopy / Car Washes		
- Additions	\$7.42 m2	(\$0.68 ft2)
- Repairs	\$5.57 m2	(\$0.52 ft2
- Interior finishing of a new shell	\$3.35 m2	(\$0.31 ft2)
Parking Garages / Warehouse Storage		
- Additions	\$5.62 m2	(\$0.53 ft2)
- Interior alterations / repairs	\$2.58 m2	(\$0.24 ft2)
- Interior finishing of a new shell	\$1.30 m2	(\$0.12 ft2)
All other uses - Additions	\$5.62 m2	(\$0.53 ft2)
- Interior alterations / repairs	\$2.58 m2	(\$0.24 ft2)
- Interior finishing of a new shell		

	2023	2023
2A – Site Servicing	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Fees for stand-alone projects or where such features are		
proposed in additions, renovations or new construction		
projects.		
Irrigation system		
 serving individual dwelling properties 	\$115.00	Flat Fee
- serving all other building properties	\$115.00	Flat Fee
On-site Sewage systems		
- New - Class 4, or 5 system	\$625.00	Flat Fee
- New - Class 1,2 or 3 system	\$360.00	Flat Fee
- Alteration to existing on-site sewage system	\$360.00	Flat Fee
- Repair to existing on-site sewage system	\$200.00	Per Project
- Plan Review of existing for compliance	\$50.00	Per Project
- Site Review of existing for compliance	\$115.00	Per Site Visit
- Alteration NOT required	\$115.00	Per Site Visit
- Alteration required	\$360.00	Flat Fee
- New sewage system required	\$625.00	Flat Fee
- Re-inspection Program		
- initial site inspection	\$155.00	Flat Fee
- additional site inspections	\$115.00	Flat Fee
Private Fire Hydrant system (wet or dry)	\$240.00	Per Project
Sewer Connection from existing septic system	\$115.00	Per Project
New Site Servicing - To all projects except Low Density		
Residential (Installation of sanitary, storm sewers, and		
water distribution service)	\$155 per 30m	or part thereof
2B – Building Mechanical & Fire Safety	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Fees for stand-alone projects or where such features are		
proposed in additions or renovation projects.		
H.V.A.C		
- Non-residential	\$180.00	Per Appliance
- Residential	\$155.00	Per Project

	2023	2023
Plumbing		
- Fixture not listed below	\$24.00	Flat Fee
- Backwater device		
- Installed in conjunction with other construction	\$24.00	Flat Fee
- Stand-alone installation of one unit	\$115.00	Flat Fee
- Stand-alone installation of multiple units	\$115.00	Flat Fee
- Testable Backflow devices		
 Installed in conjunction with other construction 	\$24.00	Flat Fee
- Stand-alone installation of one unit	\$115.00	Flat Fee
- Stand-alone installation of multiple units	\$115.00	Per unit
Fire/Life Safety Systems Installation or upgrade		
- Electromagnetic Lock/Hold-open	\$9.86 each	Per Unit
- Emergency Lighting	\$0.61 m2	of area serviced
- Fire Alarm system	\$0.61 m2	of area serviced
- Sprinkler system	\$0.61 m2	of area serviced
- Standpipes (retrofit)	\$115.00	Per Cabinet
- Fire Doors (retrofit)	\$115.00	Per Cabinet
2C - Miscellaneous Elements - Fees for stand-alone projects or where such features are proposed in additions, renovations or new construction projects.	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Barrier Free walks / ramps (exterior)	\$115.00	Flat Fee
Below Grade Exterior Stair	\$115.00	Flat Fee
Chutes (Linen / Refuse)	\$115.00	Flat Fee
Commercial Cooking Hood	\$310.00	Flat Fee
Fire Department Plans Examination	\$120.00	Flat Fee
Floor Area Change (new usage of existing)	\$2.45 m2	(\$0.22 ft2)
Mechanical Rooms	\$115.00	Flat Fee
Underpinning / Tie Backs / Shoring	156.68 m2	(or part thereof)
Rack Storage Systems	\$7.87 m2	(\$0.63 ft2)
Retaining Walls (per OBC) - 1 meter or less in height	\$155.00	Per Property

	2023	2023
- Exceeding 1meter in height	\$600.00	Per Property

	2023	2023
Signs		
- Minor Wall signs (254 lb or less) - 1st sign	\$115.00	Flat Fee
- for each Minor Wall sign thereafter on same permit	\$57.40	
- All other signs	\$310.00	Flat Fee
Spray Booths / Dust Collectors	\$600.00	Flat Fee
Solid Fuel Appliance c/w Chimney System	\$310.00	Flat Fee
Above Ground Pool - No Deck	\$115.00	Flat Fee
Inground Pool Fence	\$240.00	Flat Fee
2D – Green Systems	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Fees for stand-alone projects or where such features are proposed in additions, renovations or new construction projects.		
Green Roofs	\$6.68 m2	(\$0.62 ft2)
Greywater recycling systems		
- serving individual dwelling	\$180.00	Flat Fee
- all others	\$520.00	Flat Fee
Geo-Thermal systems		
- serving individual dwelling	\$180.00	Flat Fee
- all others	\$520.00	Flat Fee
Solar Domestic Hot Water systems		
- serving individual dwelling	\$180.00	Flat Fee
- all others	\$520.00	Flat Fee
Solar photovoltaic systems		
- roof mounted to individual dwelling buildings	\$180.00 each	affected side of roof
- all others	\$520.00 per 140m2	of solar panel
Wind Turbines	\$520.00 Each Turbine	
3A – Permit Applications & Active Permits	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Additional Inspections	\$95.00	Per Inspection
•	•	

	2023	2023
Change of Use Application		
- No construction proposed or required	\$115.00	Per Application
	Use appropriate fees	
 Compensating construction is required 	listed elsewhere in this	
	schedule	
Conditional Building Permit Agreements		
- Simple Agreement	\$250.00 Per Unit	Per Agreement
- Other	\$2,250.00	Per Agreement
- plus, Third Party Review	Out of pocket cost	recovery +15%
Deferral of revocation of building permit	\$125.00	Per Permit
Lot Grading Approvals from Town Engineer		
 Administrative assistance for Individual Dwelling 		
(houses)	\$62.50	Per Project
- plus, Town Engineer Review	\$312.00	Per Project
 Administrative assistance for all other Buildings 	\$125.00	Per Project
- plus, Town Engineer Review	\$115.00	Per Hour
Processing and collection of applicable law approvals		
 Per Individual Dwelling (houses) 	\$66.00	Per Project
 For all other Buildings or Structures 	\$145.00	Per Project
- plus, Third Party Review	Out of pocket cost	recovery +15%
Request to use Alternative Solution	\$1,200.00	Per Request
- plus, Third Party Review of design submission	Out of pocket cost	recovery +15%
Request for CBO to accept Alternative Material	\$1,200.00	Per Request
- plus, Third Party Review of design submission	Out of pocket cost	recovery +15%
Request for Partial Permit	\$220.00	Per Request
- plus, Third Party Review of design submission	Out of pocket cost	recovery +15%
Review of revised permit documents	\$90.00	Per Hour
Site Visits – prior to permit issuance	\$90.00	Per site visit

	2023	2023
Third Party Review	Out of pocket cost	recovery +15%
Transfer of Permit to new property owner	\$130.00	Per Permit

	2023	2023
3B – Archived Permit	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Notwithstanding the fees described below, the fee applied to reactivate a permit shall not exceed the original permit fee value		
Review of permit file documents	\$100.00	Per Hour
Maintenance Fee of all files not closed within 24 months	\$115.00	Per Year
Site Visits	\$100.00	Per Site Visit
Third Party Review	Out of Pocket cost	recovery +15%
3C – Investigations	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
To offset additional investigative and administrative costs, the following fees apply;		
Construct or Demolish without Permit Issued		
 Prior to the issuance of an Order pursuant to the Building Code Act 	Double normal permit fee \$15,000 on Max	
- Order pursuant to the Building Code Act	\$250.00 per Order issued	
 Order not complied with, additional site inspections to review status of non-compliance 	\$125.00 per inspection	
- Order registered on title	\$345.00 per Order	
- Issuance of Summons	\$345.00 a Summons plus legal expense	
Other Non-compliance Building Code Act & Code Matters		
- Order to Comply pursuant to the Building Code Act	\$250.00/Order issued	
- Stop Work Order pursuant to the Building Code Act	\$250.00/Order issued	
- Unsafe Order pursuant to the Building Code Act	N/C	

	2023	2023
 Order not complied with, additional site inspections to review status of non-compliance 	\$125.00 per Inspection	
- Order registered on title	Cost recovery +15%	
- Issuance of Summons	Cost recovery +15%	
3D – After-hours Inspections	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
Non-Emergency Call	\$250.00	
Emergency Call	\$320.00	
3E – Miscellaneous Clerical Functions		
Building Compliance Title Search or Septic Use permit		
Septic use permit	\$25.00 each	Flat Fee
Regular response	\$50.00 each	Flat Fee
48 hr "quick" response	\$100.00 each	Flat Fee
Compliance Letters to other Government Authorities		
- Unrelated to a active permit or permit application	\$125.00	Per Letter
- Where there is a active permit or permit application	\$125.00	Per Letter
Comprehensive Occupancy Certificate	\$230.00	Flat Fee
Consent Application Review	\$130.00	Per Application
Special Requests for File Research	\$90.00	per hour + HST
3F – Extra Services Deposit	Fee per m ² unless otherwise noted	Fee per m ² unless otherwise noted
- Collected at permit issuance to offset any additional		
inspection and administrative costs not anticipated but incurred by the municipality during a project.		
- Any fees deducted from the deposit shall be calculated in accordance with Table 3A to 3E of this schedule.		
- Unused portion of deposit is fully refundable, see Part 4 of this schedule for details		
Group A, B, C – High Density Residential, D, E, & F		
- New, Additions & Renovations	\$150.00 per 100 m ² (or part thereof)	
- Stand-alone projects not applicable to above	500	Per Project
Group C – Low Density Residential (Houses - singles, towns, etc)		

	2023	2023
- New Dwelling	500	Per Project
- All other projects	250	Per Project
Exemptions - Tents, Signs, residential decks & sheds		
Lot Grading Deposit – All other projects (unless otherwise		
specified in a development agreement)	\$4,000.00	Per Lot

Infrastructure

Service/Activity	2023
Curb Cuts for Driveways	Actual charge of contractor (minimum of \$250 + HST and \$500 Deposit required.)
Town Dock Fees - Seasonal Boat Slips (May to	
October)	
Seasonal Boat Slips	\$74.24 per foot (charge for size of boat)
Seasonal Boat Slips (with eletricity)	\$81.57 per foot (charge for size of boat)
Transient Boat Slips	\$1.99 per foot
Transient Boat Slips (with electricity)	\$2.36 per foot
Administration Fees	\$27.00 (applied to monthly payment plans)
Boat Launch (Pete Petterson Park)	
Annual Pass	\$100 (available to residents only)
Daily Launch Use (no parking)	\$10
Daily Parking (no trailer)	\$2/hr
Daily Use (including parking of vehicle & trailer)	\$25.00 (\$50.00 for non-residents)
Hourly Charge Out Rate - Executive Director	
Environment & Infrastructure	\$ 175
Hourly Charge Out Rate - Manager of Engineering	\$ 135
Hourly Charge Out Rate - Senior Project Manager	\$ 115
Hourly Charge Out Rate - Executive Assistant	\$ 85
Hourly Charge Out Rate - GIS Technician	\$ 95
Hourly Charge Out Rate - Operations Technician	\$ 95
Oversize/Over Weight Moving	
Single Trip Permit	\$ 100
Oversize/Over Weight Moving	
Annual Permit	\$ 200
Additional Connection Permit (ACP)	\$300 plus 3.5% of cost estimate for Inspection
New Water/Sanitary/Storm Connections	Fees. Security Deposit Required
Road Occupancy Permit (ROP)	\$200 Security Deposit may be required

Infrastructure

Service/Activity	2023		
Peer Review of Reports and Drawings		Time and Materials	
Development Pre-Servicing and Earthworks		\$5,000	
Agreements		Plus Legal Fees	
Site Plan and Subdivision Clearance			
Standard Turnaround	\$	75	
Site Plan and Subdivision Clearance			
Rush 48 Hour Turnaround	\$	150	
Engineering Record Search			
(Hourly Rate)	\$	85	
Engineering Records Request - Hardcopy		Materials plus Hourly Rate	

Public Works

Equipment / Service	2023 Per Hour Rate Including Operator	2023 Minimum After Hours & Weekends
Mechanical	\$137.32	\$411.97
Excavator	\$164.61	\$493.83
Grader	\$296.03	\$888.09
Transit Bus	\$190.61	\$571.83
Sweeper	\$245.51	\$736.53
Sidewalk Machine w/ Attachment	\$226.95	\$680.85
Pickup Truck w/ Attachment	\$148.84	\$446.52
Tandem w/ Plow	\$327.08	\$981.23
Tri-Axle	\$238.51	\$715.53
Loader w/ Attachment	\$188.62	\$565.86
One Ton w/ Attachment	\$169.21	\$507.63
Additional Labour (reg)	\$96.84	\$290.52
Additional Labour (OT)	\$111.06	\$336.42
Salting per tonne	\$91.14	\$91.14
Sanding per tonne	\$56.79	\$56.79

Parks Fees

	2023
Picnic Shelter	
Large Pavilion per Day	\$ 250.00
Large Pavilion per Hour (3-hour minimum)	\$ 41.83
Large Pavilion per Hour (Fitness Class, minimum once per week, 4 consecutive	
weeks)	\$ 11.50
Volleyball Picnic Shelter per Day	\$ 65.00
Volleyball Picnic Shelter per Hour (3-hour minimum)	\$ 15.69
Soccer Fields	
Minors - 2 Hour Rental per Field	\$ 25.00
Minor - Full Day Rental per Field (8am - dusk)	\$ 95.00
Adults - 2 Hour Rental per Field	\$ 32.00
Adults - Full Day Rental per Field (8am - dusk)	\$ 112.00
Disc Golf	
Daily Tournament (Little Lake Park - includes course rental only)	\$ 195.00
Beach Volleyball Courts	
Tournaments per Court per Day	\$ 92.00
Minors per Court per Hour	\$ 25.10
Adults per Court per hour	\$ 33.47
Tennis Courts Bookings	
Per Court per Hour	\$ 3.14
Pickleball Courts Bookings	
Per Court per Hour	\$ 3.14
Rotary Bandshell	
Pini	\$ 65.00

Parks Fees

Service/Activity		2023
Baseball - Adult		
Adult - Hourly per Diamond Fee (Lining not included) Between 8am - 4pm, Weekday	\$	19.50
Adult - Hourly per Diamond Fee (Lining not included) Weekdays after 4pm / Weeker	\$	22.50
Adult - Hourly Lighting Fee per Diamond (additional fee)	\$	17.00
Adult - Daily Rental Fee per Diamond (Lining not included) 8am - dusk	\$	105.00
Baseball - Youth (Minor)		
Minor - Hourly per Diamond Fee (Lining not included) Between 8am - 4pm, Weekda	\$	9.00
Minor - Hourly per Diamond Fee (Lining not included) Weekdays after 4pm / Weeke	\$	10.00
Minor - Hourly Lighting Fee per Diamond (additional fee)	\$	14.00
Minor - Daily Rental Fee per Diamond (Lining not included) 8am - dusk	\$	75.00
Dedications	<u> </u>	
Bench Dedication (Materials and plaque purchase separately, install only)	\$	460.00
Tree Dedication (includes plaque and planting installation)	\$	500.00

Legend - Categories

a. = Minor Sports/Youth Groups/Schools

c. = Private & Commercial Groups

d. = Off-Peak Senior Fitness Rate (9 am-

b.= Adult/Senior Not-For-Profit 2 pm) 2023 Gymnasium Per Hour/Gym \$ 12.89 a. \$ 15.47 \$ 25.80 Community Hall - 1/2 hourly (3-hour minimum) \$ 20.94 a. \$ 25.35 \$ 46.13 \$ d. 20.94 Community Hall - Full Hourly (3-hour minimum) \$ 41.92 \$ 50.71 \$ 92.26 \$ 41.92 d. Community Hall 1/2 Daily Special Event \$ 218.25 a. \$ 261.90 466.17

Legend - Categories

a. = Minor Sports/Youth Groups/Schools c. = Private & Commercial Groups

d. = Off-Peak Senior Fitness Rate (9 am-

b.= Adult/Senior Not-For-Profit 2 pm)

	2	2023
Community Hall Full Daily Special Event		
a.	\$	436.48
b	\$	523.80
С	\$	960.28

Legend - Categories	
reneun - Marennies	

a. = Minor Sports/Youth Groups/Schools

c. = Private & Commercial Groups

b = Adult/Senior Not-For-Profit

d. = Off-Peak Senior Fitness Rate (9 am-2 nm)

b.= Adult/Senior Not-For-Profit	2 pm)		
	2023		
Seniors Room Hourly (3-hour minimum)			
a.	\$	21.48	
b.	\$	25.76	
c.	\$	47.23	
Multi Purpose Hourly (3-hour minimum)			
a.	\$	9.10	
b.	\$	10.47	
c.	\$	19.17	
Bill Thompson Hourly (3-hour minimum)			
a.	\$	20.50	
c.	\$	24.60	
d.	\$	45.08	
Board Room Hourly (3-hour minimum)			
a.	\$	8.53	
c.	\$	10.13	
d.	\$	18.67	

Legend - Categories	
reneun - Marennies	

a. = Minor Sports/Youth Groups/Schools

c. = Private & Commercial Groups

b = Adult/Senior Not-For-Profit

d. = Off-Peak Senior Fitness Rate (9 am-2 nm)

b.= Adult/Senior Not-For-Profit	2 pm)		
	2023		
Seminar Room Hourly			
a.	\$	8.53	
c.	\$	10.13	
d.	\$	18.67	
NSSRC - Miscellaneous Fees			
Bartender (per hour)	\$	25.00	
Beer (341 ml)	\$	5.25	
Alcohol (per 1 oz)	\$	5.50	
Wine (per 6 oz)	\$	5.75	
Cooler (330-355 ml)	\$	5.75	
Pop (355 ml)	\$	2.00	
TV/DVD player		N/A	
Multi-Media Projector	\$	35.50	
Community Hall Kitchen Rental - Hot Only			
Per person (Max \$100)	\$	1.50	
LED sign (per week)			
(event in NSSRC)	\$	5.50	
(event in Community)	\$	27.50	
Microphone/ Sound System	\$	12.00	

Legend - Categories	
a. = Minor Sports/Youth Groups/Schools	c. = Private & Commercial Groups
b.= Adult/Senior Not-For-Profit	d. = Off-Peak Senior Fitness Rate (9 am- 2 pm)
	2023
Senior's Kitchen	
Н	ot \$ 44.00
Co	ld \$ 27.50

3.00

8.00

	NOONC
Legend - Categories	
a. = Minor Sports/Youth Groups/Schools	c. = Private & Commercial Groups
b.= Adult/Senior Not-For-Profit	d. = Off-Peak Senior Fitness Rate (9 am- 2 pm)
	2023
Ice Rentals	
Ice Rentals Hourly	
a.	\$ 162.20
b.	\$ 198.53
c.	\$ 225.98
Weekday (non holiday) Ice Rental (off-peak hrs)	
6 am – 3 pm	\$ 116.94
10 pm – 1 am	\$ 116.94
Ice Rentals Hourly	
Non-Prime	\$ 162.20
Drop Ins	
Program	
Public Skating -Kids	\$ 2.00
	•

Adult Shinny \$

Family \$

Legend - Categories	
a. = Minor Sports/Youth Groups/Schools	c. = Private & Commercial Groups
b.= Adult/Senior Not-For-Profit	d. = Off-Peak Senior Fitness Rate (9 am- 2 pm)
	2023
Seniors Skating	\$ 3.00
Season	n \$ 40.00

Legend - Categories

a. = Minor Sports/Youth Groups/Schools c. = Private & Commercial Groups

d. = Off-Peak Senior Fitness Rate (9 am-

b.= Adult/Senior Not-For-Profit 2 pm)

j	_ p	
	2023	3
Pre- School Skating	\$	2.00
Season	\$	40.00
Adult Shinny - Per Player	\$	5.00
Senior Shinny - Per Player	\$	3.00
Per season	\$	75.00
Minimum Drop In - per hour	\$	50.00
Drop-in per person	\$	10.00
Summer Arena Floor Rentals		
a.	\$	52.90
b.	\$	63.47
c.	\$	116.38
Special Events Arena Floor		
a.	\$	716.43
b.	\$	859.73
C.	\$	1,576.17
Arena Boards Advertising	\$	575.00

Tourism Culture

Service/Activity	2023
Filming Application	
Student Film, max crew size of 7 people, no special effects	\$ 25.00
Medium Risk & Size, crew size 8-49 people, no special effects: \$150	\$ 150.00
High Risk & Size, crew size 50+: \$500	\$ 500.00

Transit

Service/Activity	2023	2023		
Transit Fares:	Cash	Tickets		
Adults	\$3.00	20 for \$45		
Senior Citizens	Free			
Children under 60"	\$2.50	20 for \$40		
Children 6 years old and younger	Fr	ee		
Reloadable Smart Card (Effective September				
23, 2019)		\$3.75 per card		
Midland Seniors Card Replacement	\$20.00			
Accessible Transit Fares:				
All rides		3.00 per card		
Shelter Advertising:*	0.40/in2			

^{*} Is handled by a third party via RFP but if town does it the above rates apply

Transit Advertising

							2023
	Size			Primary/			
Bus#	(Inches WxH)	Area (sq.in)	Location	Secondary Bus	\$/sq.in *	Code	Annual Cost
67	45.75 x 21.75	995.06	Curb Side Frame	Secondary	\$0.27	67-A1	\$270.56
67	45.75 x 21.75	995.06	Rear Frame	Secondary	\$0.27	67-A2	\$270.57
67	45.75 x 21.75	995.06	Drivers Side Front Frame	Secondary	\$0.24	67-A3	\$239.34
67	27.75 x x21.75	603.56	Drivers Side Rear Frame	Secondary	\$0.24	67-A4	\$145.18
			Interior overhead (Driver Side) Can be				
67	256 x 11.125	2848	broken into segments	Secondary	\$0.22	67-A5	\$625.47
			Interior Overhead (Curb Side) Can be				
67	114x 11.125	1268.25	broken into segments	Secondary	\$0.22	67-A6	\$278.53
			Interior Overhead (Curb Side) Can be				
67	92 x 11.125	1023.5	broken into segments	Secondary	\$0.22	67-A7	\$224.78
67	42 x 38.5	1617	Contravision Driver Side Window 1	Secondary	\$0.29	67-A8	\$473.50
67	54.25 x 40.25	2183.56	Contravision Driver Side Window 2	Secondary	\$0.29	67-A9	\$639.40
67	43.75 x 40.25	1760.94	Contravision Driver Side Window 3	Secondary	\$0.29	67-A10	\$515.64
67	42 x 35.5	1491	Contravision Driver Side Window 4	Secondary	\$0.29	67-A11	\$436.60
67	30 x 37.35	1120.5	Contravision Driver Side Window 5	Secondary	\$0.29	67-A12	\$328.11
67	52.5 x 38.5	2021.25	Contravision Curb Side Window 1	Secondary	\$0.32	67-A13	\$655.29
67	43.75 x 37.25	1629.69	Contravision Curb Side Window 2	Secondary	\$0.32	67-A14	\$528.34
67	30 x 37	1110	Contravision Curb Side Window 3	Secondary	\$0.32	67-A15	\$359.86
69	43.75 x 19.75	864.06	Curb Side Frame	Secondary	\$0.27	69-A1	\$234.95
69	43.75 x 19.75	864.06	Rear Frame	Secondary	\$0.27	69-A2	\$234.95
69	43.75 x 19.75	864.06	Drivers Side Front Frame	Secondary	\$0.24	69-A3	\$207.83
69	43.75 x 19.75	864.06	Drivers Side Rear Frame	Secondary	\$0.24	69-A4	\$207.83
69	14 x 21.25	297.5	Interior Left Rear Bulletin	Secondary	\$0.22	69-A5	\$65.34
			Interior overhead (Driver Side) Can be				
69	256 x 11.125	2848	broken into segments	Secondary	\$0.22	69-A6	\$625.47
			Interior Overhead (Curb Side) Can be				
69	114x 11.125	1268.25	broken into segments	Secondary	\$0.22	69-A7	\$278.53
			Interior Overhead (Curb Side) Can be				
69	92 x 11.125	1023.5	broken into segments	Secondary	\$0.22	69-A8	\$224.78
69	43.75 x 29.75	1301.56	Contravision Driver Side Window 1	Secondary	\$0.29	69-A9	\$381.13
69	52.5 x 28.25	1483.13	Contravision Driver Side Window 2	Secondary	\$0.29	69-A10	\$434.30
69	43.75 x 29.75	1301.56	Contravision Driver Side Window 3	Secondary	\$0.29	69-A11	\$381.13
69	42.25 x 25.25	1066.81	Contravision Driver Side Window 4	Secondary	\$0.29	69-A12	\$312.39

Transit Advertising

							2023
	Size			Primary/			
Bus#	(Inches WxH)	Area (sq.in)	Location	Secondary Bus	\$/sq.in *	Code	Annual Cost
69	30 x 26.75	802.5	Contravision Driver Side Window 5	Secondary	\$0.29	69-A13	\$234.99
69	52.75 x 28.25	1490.19	Contravision Curb Side Window 1	Secondary	\$0.32	69-A14	\$483.12
69	43.75 x 26.75	1170.31	Contravision Curb Side Window 2	Secondary	\$0.32	69-A15	\$379.42
69	30 x 26.75	802.5	Contravision Curb Side Window 3	Secondary	\$0.32	69-A16	\$260.17
71	51.5 x 49	2523.5	Contravision Driver Side Window	Primary	\$0.35	71-A1	\$870.90
71	46 x 46.5	2139	Contravision Driver Side Window	Primary	\$0.35	71-A2	\$738.20
71	30.75 x 49	1506.75	Contravision Driver Side Window	Primary	\$0.35	71-A3	\$520.00
71	46 x 46.5	2139	Contravision Driver Side Window	Primary	\$0.35	71-A4	\$738.20
71	67 x 49	3283	Contravision Driver Side Window	Primary	\$0.35	71-A5	\$1,133.01
71	25.625 x 49	1255.625	Contravision Driver Side Window	Primary	\$0.35	71-A6	\$433.34
			Driver Side Vinyl Wrap (Between				
71	144 x 39	5616	Wheels)	Primary	\$0.45	71-A7	\$2,525.48
			Driver Side Vinyl Wrap (Infront of	•			
71	45 x 39	1755	Front Wheel)	Primary	\$0.45	71-A8	\$789.21
71	50.5 X 49	2474.5	Contravision Curb Side Window	Primary	\$0.38	71-A9	\$931.62
71	28.375 x 46.5	1319.4375	Contravision Curb Side Window	Primary	\$0.38	71-A10	\$496.76
71	67 x 49	3283	Contravision Curb Side Window	Primary	\$0.38	71-A11	\$1,236.01
71	25.625 x 49	1745.625	Contravision Curb Side Window	Primary	\$0.38	71-A12	\$657.21
			Curb Side Vinyl Wrap (Between Front				
71	83.5 x 39	3256.5	Wheel & Rear Door)	Primary	\$0.48	71-A13	\$1,566.60
			Curb Side Vinyl Wrap (Between Rear				
71	21 x 39	819	Door & Rear Wheel)	Primary	\$0.48	71-A14	\$393.99
			Curb Side Vinyl Wrap (Below Vent at				
71	49 x 19	931	Rear)	Primary	\$0.48	71-A15	\$447.87
71	76.5 x 29	2218.5	Rear of Bus Vinyl Wrap	Primary	\$0.48	71-A16	\$1,067.25
71	55 x 11.375	625.625	Interior Overhead (Driver Side)	Primary	\$0.27	71-A17	\$170.11
71	55 x 11.375	625.625	Interior Overhead (Driver Side)	Primary	\$0.27	71-A18	\$170.11
71	55 x 11.375	625.625	Interior Overhead (Driver Side)	Primary	\$0.27	71-A19	\$170.11
71	55 x 11.375	625.625	Interior Overhead (Driver Side)	Primary	\$0.27	71-A20	\$170.11
71	39.25 x 11.374	446.46875	Interior Overhead (Curb Side)	Primary	\$0.27	71-A21	\$121.40
71	39.25 x 11.375	446.46875	Interior Overhead (Curb Side)	Primary	\$0.27	71-A22	\$121.40
71	55 x 11.375	625.625	Interior Overhead (Curb Side)	Primary	\$0.27	71-A23	\$170.11

^{* \$/}sq.in amounts have been rounded to two digits for presentation purposes